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PART -1
ARITHME.TIC 40 Marks :
Instructions : Each question under lh:s part carries ONE mark. Please read
each question carefully and answey !hem by selec ting the nghr one out of the
multiple answers given below each asA; B c & D-

There shall be negative marking @ 0 5 mark per question for wmng/mnmple
answers.

. A boat man can row 36 km in downstrcam in 4 hours. If the speed of the current
is 3 kmv/h, then find in what time wil] he be able to cover 6 km upstream ? -

Qs8 RG0! 6ZI9R ARQAGA 4 Qal6q 36 §.4. aIgAl AIRAIAG | AR 69190 a8l 9O
6o6 3 @4, Q1. 6660 6969 AAALA ¢g egmra goqRea 6 &4 a8gA eRaItke ?

(A) 6 hours - 0 (B) 2 hours
(C) 4 hours (D) 8 hours

. From a point on a circular tract of 12 km long, A, B and C started running in the
same direction at the same time with speed of 4 km/h, 3 km/h and 2 km/h
respectively. Then on the starting point, all three will meet again after :

cRIG0 QAIRIA AEER YR §9Q A, B Ye° C @AIR AAAKA G AR Q66a ARIgEn
Qagd 488,368 6 298 casea T166A | 6969 6a6F AraLR ANG B8
21a5] 396R €056Q ? "

(A) 4 hours (B) 6 hours _ :
(C) 12 hours ' (D) 3 hours " % ey £ P
| 2 W
. How much water be added to 16 litres of milk worth Rs. 6.75 per litre so that the (\S X
value of the mixture will be Rs. 4.50 per litre ? (‘} ¢
Ve Aeq g6 6.75e@ An @aIesq 16 AeQ EHQGGI 6260 QIEl Adiasn Agaa Am
[alala g@ 4.50 &1 6QQ7 &
(A) 10 litres (B) 6 litres a9 °'°/q§ﬂ :

(C) 12 litres _(D) 8 litres

Ratio of present age of Amit and Rakesh is 7:5. Amit will be 36 )c.zus old afler 3
years. How old Rakesh is now ?

270 1e° QUEaaa QAAIR QOLQ YRAIG 7:52¢0 | 8 @@T Q60 AR Qr.m 36 @ﬁ“ é‘
699 | (0GR GUERaE QENIR 904 6@6R 7 '5

: ot -3
(A) 20 years (B) 21 years <

(C) 15 years : (D) 28 years . W
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5. A sum of money al simple m’“ becumes five times in 24 ycars The rate of
interest per annum is : R

(A) 18%% (B)'163% i

© "O—% (D) None of these

e ve ARG AeRgY 29D 24 oeq s 961 QU 1 6969 AARGUA QAR 6360 7
(A 18%% L@ 16 |

(© 205% | Gl (D) AR ARG 6REE Q6d

6. At what percent per annum a sum of Rs. 500 will amount to Rs. 864 in 3 years, if
the interest is compounded annually ? '
6od 0998 qu QREA 500 &4 3 Qﬁ'sa 864 oa1 Q. a@ edq aca Qu Jaie
QQare? : _
(A) 15% - (B) 25% (C) 20% (D) 10%

Rahul invested 20% more than Bikash. Bikash invested 20% less than Kamal. If
the total sum of their investment is Rs. 8,280, how much amount did Kamal
invest ?

Q14 Al QPR §0Q0e! 20 AYR 0& R6R4 QR | QAR casl dalE €999l 20
C el G& Q64 Q6R | 9@ arcg YRS QIR 8,280 o'l 6&91 A6Q4 G?GIEJIG‘, 6Q6Q
N QFR 6960 El& Q6Q4l @Q&G@ ?

(A) Rs. 2,750 (B) Rs. 2,500

- (C) Rs. 2,250 iy o - (D) Rs. 3,000

e

v

8. An article is marked 50% above the cost price and it is sold at a discount of 40%.
:/4, What is the gain or loss percentage ?
r?"‘--«

(A) 10% loss (B) 15% gain (C) 15%loss * (D) 10% gain

6aIGY QA4 Asie fAatl ¥R @4 AAHOIQ §9Q0! 50 ?JQJG? ¥e° YQIQ 49@0l 40
Q216 Quae 99 @AM | 696Q ORI GGPG@ RIS 9 86 69 ?

(A) 10% 88 (B) 15% QlQ (C) 15% 83 - (D) 10% Q&

9. Fillin the missing number in the series 5, 11, 19, 29, -----
5,11, 19, 29, ----- A0QAQ AQAFS TMIT I8 R |

(A) 52 (B) 41 - (C).51 -ow. "o DY S B

0. Sum the series 40+39+38+ ......... Bl R )

40+39+38+......... + 1120909 €AIGI0R 6960 7 © - «i%ie

(A) 780 BYTIS i (©765 i (D)8Wue
52021/B Sk

04 e
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11. If the area of a triangle is 250m? and the mm of the base and the hcnght is4: S,

then find its height.

a6 caIfv §Qea e8eTR 250 esT q‘, w ‘GQIQ Qf G a%m awale 4:5Q0

606Q ‘GQIQ QR0 6QEQ 7
G i (C) 2m (D) 25m

" 12. The length of a rectangle is lncreascd by 25% By what per cent should lhc width

be decreased to maintain the same area 9

¢y 21906890 Adig G0 9! 25 g@ eaald | vela gag aeae! ¢ 6960 ool

QER CIQER Q@ AQe '?

(A) 20% (B) 25% (D). 33—-%

g (C) 22-%

13. The diameters of two concentric ciféiés'arc 14 cm and 12 cm. The area of the

region between them is :

ancen e OQG‘ 9@Q Q1id ElEll@Gﬂ 14 ¢af. 6 12 cafl. | aAIpe FIEHGQ EIG’I

6809 AW GG‘G@ ?

(A) 87 cm’ (B) 13m cm’ (D) 4m cm®

(C) 52n cm?

14. The volume of a cube is 512 cm’. Thﬁ total surface area of the cube is ¢

e dAQRQ ARtk 512 QQGGIQ | 6960 YQIQ 4AY Q‘&GQQ GSQEE? 6Q6Q 7

(A) 486 cm’ (B) 294 cm® (C) 384 cm’ (D) 729 cn’

L’L

v

-«J.
\b“\’

L

%
"

Y

%

15. A solid piece of iron whose length, breadth and height are 44cm, 42cm and Zlcm Q

respectively is moulded into a sphere. The radius of the sphere is :

44 cad. dal, 42 caf. gg 6 21 cafl. aeel 388 Ve @Oe ARIYEQ 00RIR o

G CAIAREA AGEQ @QUAIY | 6069 GQIQQG‘Q MIAIT 6R6Q ?

(A) 35cm (B) 42cm (C) 49cm (D) 2lcm
186. J§+J§+\f§—-\f3'_,,
R I - _ 18
(A) 8 (B) 1 ©215 - = (D16
47, Ifa:b=2:3, then find (5a—2b) : (a+3b) .
gfa:b=2:3Q% €069 (52— 2b) (a+3b)6§?€9‘? _ L8
'(A) t1:4 (B)4:11 (C)l T D3:2 "
{A)Q‘-' | (B) s Sl N | SRR o1

CRE2021B.
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19. Which of the following "umbcrs isa pérfect Square number ? 9+
Saade anIfIee ATig Sl Gﬂl@‘o aded Qeeyl 2

(A) 0.004 (B) 0.036 . _ (CyI2f (D)256

20. What is the smallest number bY Whlch 10976 must be divided to make it a pcrfcct
cube ?

oQ gaen @l Qlal 10976 @ QI'B'I 9694 QIQl 61 as!m CIoQty| EQH;}'EJIQQ 0
(A)4 (B)7 ' 08 e iy

If 11 eggs are bought for Rs. 10 and 10 eggs are sold for Rs. ll what is the
percentage of gain or loss ?

(A) 20% gain (B) 21% gam (C) 21% loss (D) 20% loss

ad 10 0Qi6a 11 & 24 [0V G ll ORER 10 & 24l 9 SQILNY, €069 G0RS!
6R60 AN Q1 96 629 ?

(A) 20% QIR (B) 21% @QQ - (©) 21% 86 (D) 20% 88

N . | i
N ﬁ 10 examiners can evaluate 2000 answer sheets iri 8 days. In how many days, 124,

examiners can evaluate 3000 answer sheets ?

6§0 10 @6l AUSQ 8 GREQ 2000 &IG! ARl G?QGIQ@ |'6e6R 12 @8 GG’HQQ 6QR6Q

V227 Gaea 3000 661 GRHIGR @RI 7

(A) 15 days (B) 131 days () 10 days (D) 20 days

23. How many numbers up to 400 are divisible by 5 and 7 together ?
400 93 €R6QIT ell GGG 5 99" 7 QA FQIH BA6e' ?
(A) 10 (B) 9 (C) 12 (D) 11

24. The difference between 90% and 75% of a number is 225. Then f'md out 82% of
the number.

6AITY eI 69R91 90 YQ° €990l 75 ﬂd‘lGG‘l 2QQ 225 A6E | €96Q AWMIFQ
A9Q0! 82 6060 7

(A) 1230 ~(B) 1500 (C) 1200 (D) 2250

& 25 IfA:B=4:5adB:C=7:8 thenfind A:C
A8 A:B=4:59°B:C=7:8,6060 A:C6RE0 7 ,
(A)32:35 (B)7:10 ©) 10:7 > {arad 38

26, What is the smallest number which should be addcd 10 7700 to mal\u lhe sum &

perfect square number ? 2 4
_7700 69 694 HQOA QNI 60#61 @EM CUIGIERY IR Uéde Qo Q9 x

(A 15 . - (B) 50 (€).25 - - (D) 196

- CRE2021/B ' | | '
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27, The ratio of two numbers is 5 : 6 and ‘halYH CF.is0 Their L.CM. is:

Qad @eHq 8RaIe 5: 60 sf.zmmq:;. qq‘ g 62681 696a 2ol QO aae
6aee ?

(A) 90 (B) 60 : “"':-(C) 30 (D) 180
28, lf nt‘ - of ~——0f a number is 270, thtm40% of the number will be :

ad ead @i a G\ -Q 2o 7,70 qu coce 6aR aHMIa 46Qa) 40 6ae0

69Q 7 |
(A) 324 (B) 138 " 5 --fj_r(c) 108 (D) 810

2a. Three numbers are in the ratio of 3 4 5 and their average is 36. The largest
number is :
AcqlG aMIQ AQEANQ 3:4:56 Gfaqmam Q!QIQiQ 36 26S | 6069 99 PG
6R6Q ? |
(A) 45 (B) 36 o (D)_ 54

30. Wha;t is the smallest number whiéh when decreased by 5 is divisible by 16, 24,30
and 327 :
(;G?a Qo aeiq) 5 @GE]JGI QG@ QGQJQQHR 16, 24, 30, @ 32Q qauel 629 7

(A) 480 (B) 485 - (©)490 ' (D) 475

31. Find the value of \E = J:g .' | {
. g T
ﬁﬁffaﬂm@s@? 3

4 5 "

: r_'.

1 4{:‘: ; 1 \%\ i
(A) 5 Co®E . O D)
" )"9;
32. Ifa+b’= = i Ld B
. Ifa’+b"=80and ab = 32, then find the value of =+ 7 go
w3 ®)3
(C) % (D) can not be dgtemﬁuéd; _ Fe
G a7+ sﬂw ab = 32,6069 ¢ = €060 7
PR I : ST
e © (D) fdilon aGeee @
crE2OZIT - . . | Wy « Ll _ i
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33.

35.

36.

37.

38.

:2)) ;);}‘;y" LR (B) 6 dayy
(st ; - . : : S e e Ly
(D) Y¥ane ) GG aca
mm TR ,Grﬂdti@*g@@@ Q6Q i

together, in how many days, the work will be completed ?

= fG‘(n @l ]i@fza keliie] (:,QGJ EO6Q 6966 Gneo Qlala G'{;]@ 69 |

| x.'imnmtmn. (here Were 600 hﬂ}"- and 400 glrls 60% of hOY“ and SO% 01 e
p Iu” :; «l. The puun““'c of La"d'ddth that failed is :
SIp R 400 QGG e | 4996 60 QIRD 0g° 610@0! 50 QR

66 600 QIRe Y
V@ aaIsIeR 6 el@fam z;@c;@ ded com caen 7

g ;i ,Gn ,
aagica Qare eacm | & gl d
(A) 449 (B) S0% K < (C) 55% (D) 40% 4

The average age of 10 students and lhul leacher is 20 years. If the teacher’s age

% 97
is excluded, their average age ltdlfccﬁ by 2 years. What is the tcacher's age *

10 98 RIQ 6 CANIAER EA6S QAAQIE QA 20 od | g7 feaan OLe Q19
SEIAIN. €O6e CaInER AIAIRIA QA 2 of @qam | 6069 daaaa 9049 6R60 7

(A) 35 years (B) 40 years =352 (C) 44 years (D) 30 years

If 4A = 5B = 6C, then find A: B: C |
(BY6:5:4

(A)12:10:8 |
(C)15:12:10 . (D) None of these

a3 4A =5B =6C, 6069 A:B: CGG?G@‘?

(A)12:10:8 ' (B)654 F
(©) 15:12:10 (D)mmqw@ QA6 Q69

‘A’ starts a business with an investment of Rs. 2,500. Seven months later, ‘B’
Joins with ‘A’ as a partner. After a year, the proflts are dlwded in the ratio of 3:4.

How much did ‘B’ contribute ?
‘A’ 2,500 Q'@ G]Fc“:‘w Q68 @Q Ve alg, A A8 | A9 Al a6a ‘B’ @ -
oI QAR ‘A’ Ag 64lgl @818 | 6OIGY QF asa mea 3 : 4 EIQQIGGG) A& -

Q2L | 6969 ‘B’ 6260 0B F6adl aeq | . _
(A) Rs. 3,000 (B) Rs. 10,000 (C) Rs. 12,500 (D) Rs. 7,000

A walch 1s sold for Rs. 770 at a loss of 30% For how much should it be sold to

gain 20% ?
CEIE QRIQ 770 OEI6R BF R6R G960 30 Q@ gv | 6960 VQIQ 6260 FIER Q

A 40001 20 AN 6297
(A)Rs. 1,10 (B) Rs. 1,230 ((;)_‘ Rs. 1,320 (D) Rs. 1,000

‘A7 can finish a work in 18 days. *B' is twice as efficient ag ‘A" If they work
(A) 9 days (B) 6 days

(C) 12 dnys (D) None of these
‘A’ 60y 9;*"119:,\ 18 Gaca @f BCISR | A dedql ‘R’ QRSN Q] | S]O 6?]‘21169



g, A cistern is: normally flllecl in 6 hOurs hl;t akes 3 hours longer to f1ll becausc
t a

of a leak at its bottom. If thc cistern i ls fun the le .k will empty itin:

. (A) 24 hours :
C) l‘%hours i3 (B) 12 hours
( ‘ ; ( ) None of these

cieca 8a el @1%@; val 98 P

RGN @@ ARIQENS 6 VEUER aé X ale|
Q &9 NG @ qr@

ceql I8 AYR 3 A8 AN, QIGA | gﬁ %g Qe soefa'ﬁo@ 6R6Q qc:tsam ¢

SR @GQ ? |

(A) 24 hours ; i .(B} 12 hours 4 /

(C) 18hours (D) 0R ALiQ 6a6T acd 2
40. A 150 metres long train passcq a bndgc at rate 90 km/h in 20 scconds What 1S %

the length of the bridge ? - : i

(A)350m o (@)s00m ' g

(C) 650 m ' i : (D) None of these

150 foq A A& 6alSy eeca aql g6 90 Q4. 6aER o3 @@ coldy caIRg 20 |

£A6REEQ ATQA Q6Q | 6069 calnGQ caal 6a6o 7 " %
(A) 350 m . (B)S00m
(C) 650 m ot (D) WlIQer AN e@ Q6Q

. PART-II
GENERAL KNOWLEDGE : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appmpnare
answers out of the mulnple answers given below each as A, B,C &D.

There shall be negative markmg @ 0.5 mark per question for. wrong/hmlﬁple

ANSWErs.

41. Which of the following pairs is not correctly matched ¥
Revolution _Rélate’d to

(A) White  Milk

(Bj Blue Poultry

(C) Green- ~ Agriculure |

(D) Golden Horticulture

faRda amg f;m@ 6% caId QL8

- Gge __jgﬂaé'a

e g -
(B) 619 aIRe Gé

cyage o 98

imad -r_-‘éamo 48

o0 SBEG

' CREA02NE
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42, Which of the following pairs i 10t correctly matched ?
| © Main Lnnguage ; :

States

(A) Meghalaya Khasi
(B) Nagaland Angami
(C) Sikkim Tibetan
(D) Goa ; Konkani "‘,__‘
A9Rde A caeld a0Q 60l 88 ?
URY aeneisl
(A) 6PQ1RG, ol
(B) QIOIRIQ AR
(€ 88q 562010,
(D) &au2l cQla8N
43. The state having shortest coastline in India is :
(A) Kerala (B) Odisha (C) Wcst Bengal (D) Goa
QIeQ Y0 0e6as el Q@Y ‘
(A) 699R (B) G4l __(C)'E_J__Q&‘IQGP - (D)&sna

Who is the Supreme Commander of thé_'. Armed Forces in In__dia ?

44,
(A) Defence Minister {B) President
(C) Vice President (D) General of Army
QQ0sa cdr1eIa1a acdie carlald @ ? _
(A) 96081 A1 . (B) QU8A&
(C) QaaIgad (D) £R6aR! Qe
45. Which one of the following jurisdiction of the Indian judiciary covers -Public
Interest Litigation (PIL) ?
(A) Original jurisdiction (B) Advisory jurisdiction
(C) Epistolary jurisdiction ” (D) Appellate jurisdiction
Q!G}@‘IQ MIFEIRAAQ 9916!61@ GSIGQG?IGI A aa@ DEENEy Q@SQQG‘ @lQIQ
a@@@ ?
(A) Aaq 680U (B) 494 680URIQ
(C) 60 an@1a, 6891 | (D) 279919 686U
46. Who is the present Director General of World Health Organisatibn (WHO) ?
(A) Gro Harlem Brundtland (B) Tedros Adhanom Ghebreyesus
(C) Anders Nordstrom (D) Lee Jong Wook
94 gla1 A60Ra dAIna AQIRTag & 7
(A) 691 QIRERF 240RIG (B) 65'6Q1€l AMIERIR sms@eq«ag
(€) a1gad foeyA " DA GGIGP—G]Q !
CRE-2021/8 | ' '
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47. Which of the following takes js i ’ i ind od - :
'dPPrOPrialcd b)’ the states 7 5'..1(?,\?ic¢_by thie Umon arl ' c.lollectpfi _a_nd
(A) Passenger and goodq laxes A (B) Estate dl.lllC“-
Zgli

) 'I’a\ts of newqpapcr's PRS0 (D) Sramp dutics _
ArAde ANQ cad GHIed QIRe: qqg# 0 9 G

00" 8556 0.7 Qe QJQ' aalae g a4 aaamr QIaU

(A) QIcaBR ¥O° §og Hiea (B) aces 048
(C) S4IR6ad AL i@ caaq _ (D) a°d @qg
48. Which of the following Fmancml ln%titutmn% is the source of crcdlt for small
industries ? §
(A) SIDBI | ‘- --(B) IFCI

fnAdie mq cad ad RelgaIen eraz gom al@ 2d asleq ag ae@ ?

(A) Y9 ?Jlﬁ Qa ala (B) 2R YeP 4d ae
(C) QIQIY (D)Y@ & AR

The Indian R_ailways has launched‘aﬁ App to help the passenge
name of the App ? ' _
(A) Rail Seva (B) Rail Saral

(C) Rail Madad (D) Rail Sahay -
QARG 69 AIFIAITE q_‘&‘bllﬂla ?jl'aﬂ @G8iel App @ QIF @8 ?
sl (B) €@ aala '

(D) 6@ QQIL,

48. rs. What is the

(A) QR 649

(C) 6 AQQ

50. The world famous Navakalevar of the deities in Lord Jagannath Temple of Puri

takes place in which year ?

(A) Two consecutive odia month of Bhadraba
(B) Two consecutive odia month of Aswina
(C) Two consecu'tivc odia month of Ashadha

(D) Two consecutive odia month of Kartika
E}.@ ae GG‘!QIEJG? ﬂQGIGQ 60909 ARG Qﬂgﬂﬂ G‘QQG&-’&QG\ GQQ Q§ Q‘O 2

Q’H
(A) RAICIQ G@E’ii Gﬂl@i Ql@@ AIK6Q

(B) AI910 69a ca1o! 2180 g6
(€) gAiae 6de caldl Ze1Q A6 i s
,(D}G?ﬁ!fa@ ca@at Eﬂi@l afemasa N
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TRE Non-India™ to réceive the Bharat Ratna ? T e
51, Who is lhe_ﬁm_ s __ " (B) Khan Abdul Ghaffar Khén: |
(A) Nelson Mandci? L (D) Mother Teresa - S
© Amatya St o 0090 GleBa? -
cea Sead Q166@ 9 43 (B) 6lip, 2008 1A IR,
(A) Gﬁﬁﬁé;:w . (D)Aoq cecedl
(©oR ‘ he champion ,_6f Men’s FIH Hockey Junior World CUP"ZOZl?'.
52. Which country was s Argcﬂtiné : (C) India (D) France
(W) GermPl ep i 0,28 2729 84 64 -2021 @ o°Gein, sl ?
fi?::r:ﬁg S @awdRl ©aee e
53.. For which book Dr. Prativa Ray got M‘“"’(‘;‘;c;: :;z;‘: i

(A) Yajnaseni ety
(C) Chandrabhaga O Chandrakala (D) Shilapadma

o1 goal I 6ad gge A falcedt 9eaIR aIagien ?
~ (B) QéHeoIQy

(A) QIRCAR |
(D) 61Raq)

(C) 9RAISI G 62aRI

54. Name the India’s first multipurpose Satellite ?

€R6IC QIQPQ geIr @QAe AdgQ ? &
. (B) IRNSS-1B

(A) CMS-01 .
(C) INSAT-2A (D) IRS-1A
§5. The source of energy of the sun is due to - | ; ‘
(A) Nuclear Fission (B) Collison of Atoms
(C) Chemical Reactions (D) Nuélear—_ Fusion-
qﬂa@aagamaa 6Q0R A AT s
(A) #1890 Falanp (B) AQAIE) QR -
(C) VAR goaey (D) R1R9Q eRlRe
56. Decimal system in India was introduced by e
(A) Brahmagupta (B) Bhaskara
(C) Medhatithi | (D) Aryabhatta -
qaecR edfe aed QI QA Q7] VARSI ?
(A) 299 | ('B) a9
(C) 6o i s
afier " (D) aafeg e
CRE-2021/8
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57. Which one of the following Bnu 13

Parliament separately by spe Clal lm be passcd by cach Housé: of: the lndlan
(A) Money Bill -

P
,_I.

(B) Finance Bill

(C) Constitutional Amendmenl ﬁlll (D dinary Bill
) Ordin

9;1\%10 RN €Qa @m Ql
AIGe 69! agal 7 ot %‘?Q gg@q@ qgeca 904 Qecq @ etiea
(A) Q1 GQ i

. (B) 2@ 8R

(C) afuIe adeaq 8
dama e (D) arias &a

Wi :
tich one of the major rivers of Odlsha does not have delta at its mouth ?
(A) The Brahmani

. (B) The Rushlkulya

(C) The Baitarani " (D) The Mahanadi
GRAIQ M AN qiee ﬂd%l sea 9:.\1 Aiseq Gearaqa Q7
(A) QIQ&n ~ (B) afigmil
©) 6Q9Q8MN (D) Qe

59. Who is the present Cl'uef Executwc Ofﬁcer of ‘Twitter’ ?
(A) Anshu Jain (B) Parag Agrawal
(C) Ajaypal SinghBanga =~ "' (p) Satya Nadella
QAR “Twitter” Q AGH GQ@IQQ Q‘O '?
(A) &g €@9 (B) aQu6! aAgjaim
(C) zegain & ea i (DyEeY aié@m

60. Among the following which Odia movies jointly won the Natlonai Award in the
67" National Film Awards ? S ;

(A) Kalira Atita & Sala Budhar Badla

(B) Kalira Atita & Sri khetra Sahi Jata

(C) Sala Budhar Badla & Aadim Vichar

(D) Sala budhar badla & Sri khetra Sahi Jata
gaadio e caa 608 PR G99 67 6N 8IS, daQia QQQGQ ARe SISy
QB G aidien ?
(A) G’{QQ de10 ¥ae° anl QQIQ QORI
(B) QR 010 {;]155@ ag Qe
(C) 871 Q1A Qo Ye* g0 99I1Q
(D) QQi.QQtQ. QORI “JQ"QIG@Q AR Q1o

CRE-2021/B FURTD:
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61. Which city Government aS. becomc the world’s f" rst government to turn <o

completely paperless ?

(A)New York (B) Dubai - (C) Beizing (D) Moscow
4E91Q 6@ agaq 4aeIa 9971 9°G¢ Qige gey aaaiase 0Gae 62188 7
(A) faad (B)Q9® () éeader (D) A6eH
62. The Amazone Reef is located in Which Ocean ?
(A) Indian Ocean e (B) Atlantic Ocean
(C) Arctic Ocean i (D) Pacific Ocean
2ARICRIR. QP 6a AQIAIFIRER ARES 7 |
(A) QIS AQIAIeR - (B) AeIER AQ1QI9Q
(C) ALTR FQIAER (D) 9413 FIQIEIgQ

The national initiative named ‘Kayakalpl-’ was launched by which ministry ?

(A) Ministry of Agriculture & Farmers Welfare
(B) Ministry of Women and Child DeﬁeloPment
(C) Ministry of Health and Family Welfare
(D) Ministry of Science and Technology
"aldlan” Qe QUL 6di9q| 6AQ 716N, OIGIJ EIIQQ AQaIRg ?
(A) 98 6 989 a8 FR6IRG, .
(B) AQRI G G4 ole AQEIRG,
(C) g4 @ aQeIa QANIE AR8IRG,
(D) 3516 G QR QY ARAIRG,

63.

64. Which of the following'categorics of the images of Lord Ganesh is/are found in
the temple of Odisha ?

(A) Sthanaka Ganesh = (B) Nrutya Ganesh

(C) Asina Ganesh (D) All of the above

Qﬂ@%‘f@ g QEQIR CNISER caa QQIQ leﬂf G@GIIQ aRQ FINR%Q GO@QIQ
feR? | g s
(A) 202 96618 (BJ 701 e6I8
(C) 2ia1e Gica (D) QEERUS 99418Q

65. Who among the followmg became the first Martyr (Saheed) of Odmha during
British regime ?

(A) Jayee Rajguru : (B) Laxman Naik

(C) Raghunath. Mohamy (D) Veer Surendra Sai

‘ﬂ‘quiG GG 96‘61 AINRER GREIR gem 610 &y EJGQ ?

(A} Gel 6I99Q - BReg IR

(C) agRIEl A¢i8 (D) gear Al
cREa0 ' e
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66. ‘Rengali dam’ is B‘uilt over whu.h nf B 9"
- ‘h jvers
(A) The Mahanadi e fOllowmg ri

. ; arani
(C) The Rushikulya | ((g) 'l; }1]::, z‘::hnmm
ERENRT 98" RaRAde ﬂti‘i@‘t 6%1 cem %EQ agla caIe 7
(A) FIRI9E1 _ (B) 506
(C) afemil _ (D) Q1g6"
67. Originating from Chhotanagpur pldtcau ‘the river Brahmani cntcrs Odisha in
which district ?
(A) Sambalpur (B) ‘Sundargarh (C) Bargarh (D) Keonjhar
€18 FI0ga AIRGAQ g ciq Q;Qm a1 63610 CRE GRIEa gead @6l 7
(A) AARQR (B) 909019 - (C) 2Q69 (D) €a22R
68. Which of the following sancluanes in Odisha is also known as ‘“Turtles’
paradise’ ?
(A) Kuldiha Wildlife Sanctuary (B) Baisipali Wildlifc Sanctuary'
(C) Gahiramatha Wildlife Sanctuary (D) Bhitarakanika Wildlife Sanctuary
s8a1a §AAT0 aeaas MM “een gad aleca @9 886 ? |
(A) SREQ! 904gI8N AQUNEH (B) 90801R @q4gIen Zeiae
(C) S3an2 Qp4QIEN QI8N (D) G909 904AIEN AQYQEH
69. The place ‘Inchudi’ in Balasore district is famous for which of the following ?
(A) Salt Satyagrah (B) Gandhiji’s first arrival in Odisha
(C) Scenic beauty (D) Massacre during freedom struggle
QicRgQ G@JQ ‘a‘a@ Qﬂ%@ ﬂbﬂ’a ceQeaIQ Q‘HQ ?
(A) Red aMi9Q ' (B) QM@ Jes (3@6“-! diGIAQ
(C) aneng, édiead (D) QNI YA ANTQ QRS
70.

Which of the following statesmen is associated with Bhadrak district ?

(A) Dr. Harekrushna Mahatab (B) Janaki Ballav Patnaik

(C) Nabakrushna Choucihury (D) Biju Patnaik
FRRde Auig sed 9916 948 e R 99 @ge 7

(A) 0% Q6R9E 72019 (B) GI0&1 OQQ GFRINR
(C) RRGEH eolya ' (D) 89 QEQIAR

71, Which of the following places is known as ‘Biraja Kshetra® ?

) Jajpur (B) Cutack (C) Bhadrak ~ (D) Jugmsinghpﬁr' -
aAfe nuig cad 2919 “G00 ¢ag” QRIaN 1
(A RIGOR T By §ue (C) 0a (D) ama“qm
CRE20MB. o v '
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72. Which of the following folk da""es is mmlly popular in Kalahandi district ?
(A) Ranapa (B) (‘hllnmra ~(C) Ghoda Nacha (D) Chhau

frmdie mrNQ cad caIeqgd! mnq;@ WGG\ aeliie crede 7
(A) Qe B ©aeee  D)ea
73. ‘Huma’ in Sambalpur dlstrlcl is Well knuwn for which of the followmg ?
(A) Hot spring ~ (B) Reservoir
(C) Leaning Temple . (D)Majestic Waterfall
GnAde AuQ aRda GRla QA sedaae adde 7
(A) @8g9Qd 1 (B) epegia
(C) @Q AdQ (D) SQU6QIE, @RgaIe -
74. - Consider the following personalitigs of Odisha :
1. Justice Ranganath Mishra
II. Justice Ananga Kumar Patnaik
III. Justice Deba Priya Mohapatra
IV. Justice Gopal Ballav Patnaik
Who among the above personalities have been the Chief Justice of India ?
(A)1 &IV (B) H&IV
(©€)1&111 D) 1&I
6RAIQ GARGE 189 AIee §010Q FaaIR
L Q01000 oamle fg
II. G108 2R QAIQ JERIOR
1. 991996 60eda AQIAIQ
IV. §9106% 6aIaIR9na d8RIae
QAR MR, AINE AN 6RAFIEH QRO Al 01008 EeR ?
(A) 19e° IV (B) 119Q° IV
(C) 1 99° 111 (D) I've° II
75. Tides are caused by gravitational pull of the :
(A) Earth on the Sun (B) Sunand Moon on the Earth
(C) Moon on the Earth (D) Earth on the Moon
Q6 AMIedea 2Rt Q100q gaIa g8 QU ?
(A) gaea gaf aaca (B) gai 08° 02Q QeIa1 GEsa -
() 020 geet aacq - (D) QN 99 ATER

CRE-2021/B
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76.. Day'\ndnda Saraswati foundg.d
A A / ‘;‘1 H “ .-‘,'._;II
(A) Arya Samaj ._ . ""IB) prathana Samaj
(C) Bahujan Samaj . 1ma_|

i 0 Si
QEIRR QM Q'8 g@sy Q‘Fﬁﬁicﬁa ? : ([)) Brahm

(A) aiaf anie : h'in)@dblng
(C) 9Q@R aAI% v -;(D) ol A0
77. Who among the fi ollowlng dicd in cxnle '>
(A) Bahadur Shah Zafar . (B) Tatya Tope
(C) Nana Saheb ' " (D) Rani Laxmibai
FnAde auQ Qv Felarea qmmg @Qagm ?
(A) Q1Q1QQ GG Qe L. (B) @13 &9168
(C) IR AI6QQ H . (D) Q&N AYIAIR
78. Which tales are related with the painiing and sculptures of Ajanta caves ?
(A) Pentamerone Tales ~ (B) Jataka Tales
(C) Hitopadesha Tales " (D) Panchatantra Tales
268l AM6a EQl HeQRI 6 AINR! 6aa QIglen anMa, ?
(A) AQIGAGAIR QIQlen . (B) QIR QIQIeN
(C) Q6010604 QIQIEN (D) 98e% @lalen

79. Name the place located at the 'conﬂﬁénce of Alaknanda and Mandakini rivers.
(A) Rishikesh (B) Rudraprayag ~ (C) Devprayag ~ (D) Badrinath
JARRAQ! 6 ALIRRT PR Q]"G‘Iﬂ 40 QI Q8 7
(A) af6a4 (B) Q@ .QQJG} (C) e E_Z]QJG'. (D) e@iplal

80. Match list I with List II and choose the correct answer from the codes given
below the lists.

List - - List-1I
(Dance form) (Sta’te)
a. Bharatnatyam - 1. Tamil Nadu
b. Kathak 2. Kerala
¢. Kuchipudi 3. Andhra Pradesh
d. _Mt‘;hiniy_atrém- 4, Uttar Pradesh
Codes : :
abed ot £ o - abed
Ay iga T R T (B 42T
Cyyatd’ . oowi (D)2143
R 1

| GRE02UB.
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81.

82.

83.

84.

S — N T Il P S

olAeI-1 ¢ IAGI-11 aQ 17 aQ “‘VLGQ 940 coloq ade aaQ 918 |

lnel I SIRel I
(oY) . o ey
a. QAOERISHS LU L oifkgig
b. QU L2 6ReR
c. Q0ad 3. 299
d. erIgMmeIen 4. Qa0geRd
abcd  abed
(A)1432 (B)4321
(C)3412 =" (D)Y2143
PART - III

ENGLISH : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most approp! fate
answers out of the multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple

answers.

The word ‘insolvent’ means
(A) dangerous (B) notorious (C) bankrupt (D) rich

Morning shows the day.
(Choose the appropriate Odia meaning of the above English proverb)

(A) RQ QRAQQ Ql6d | (B) 6010 QIQIQ. gAS QIQIQL |
(C) R QI8 a2 QI6e | (D) 2] 2ada R |

He was born with a silver spoon in his mouth.

(Find out the appropriate meaning of the above sentence)
(A) He was born in a poor family. g

(B) He was born in a middle-class family.

(C) He was born with congenital disorder in his mouth.
(D) He was born in a rich family.

Qigde gadesa 4y |

(Transiate the above proverb in Qdia into English.)

(A) As you sow, s0 you reap.
(B) Take care of the pence and the pounds will take care of themselves, =+

(&) lll got, il spent.

(D) A penny. saved | 1 a pcnny t,,amcd

CRE "U"!B
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86.

87.

89.

80.

91,
e

L :ICR'E_QQZI'ZB?

85.

L T —

19

Raja Ram Mohan Roy was an 'ﬁhci' :

. : ‘ S
(Choose the correct meanin Fiiic
(A) rebel

(C) non-believer in God

g of thc. imdi‘;‘?ﬁﬁc 4 wotd)

(B) believer in God

f D oformer
Instructions for questions No, 86 to % ( ) re
ol

Fill in the blanks with appropriate prep ions
Preposition:

Beware the pickpockets.

(A) of (B) into (C) at (D) from
I Prefer death _______ dishonour, - '

(A) from (B) to ! (C).in _ (D) than
He could not comply my deln:land. |

(A) with (B) upon - (C) against (D) to

I could not lay by anything for future due to my family éompulSions.
(Choose the correct meaning of the underlined phrase.)

(A) utilise (B) gain ~ (C) plan (D) save

The 'Con'lmission decided to abolish the prevailing system of recruitment
examination. ’ |
(Choose the appropriate phrasal verb of the underlined word)

(A) deal in (B) do away with

(C) put forth (D) deal with

Instructions for questions No.91t0 93 :
Find out the sentence which is grammatically correct.

(A) He is more senior than me by two years.
(B). He is senior to me by two years.

(C) He is senior than me for two years.

(D) He is senior than me by two years.

(A) 1-as well as John are 1o blame.
(B) | as well as John were 0 blame.
(C) 1as well as John am to blame,
(D)l as w::ll'-as'_lb_hn is o blame.
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93. (A)Lion is a
(B) The lion is a beas

(C) The lion is the be
(D) Lion is beast of prey-

94. ‘ Autobiography’ means P e
(A) A record of one’s life written by himself

(B) A piece of writing e
(C) A person’s own hand-writing:
(D) The history of the life of a person

Happiness or sadness is transitory in human life.

(Find out the co
(A) pre-fixed

95.

96. A person who lives at the samc time with another :

(Substitute one word for the above)
(A) accomplice (B) activist

97. Prevention is better than cure. :
(Choose the correct part of speech of the
(A) noun _ (B) adjective

or speech1n praise of a person

rrect meaning of the underlined word.)
(B) short-lived - .~ (C) inevitable (D) permanent

(C) adjutant (D) contemporary

:underlined word)
©) adverb (D) verb

98. The man was beaten black and blue by the villagers.
(Choose the correct meaning of the underlined phrase)
(A) moderately v (B) severely (C) occasionally (D) slowly .

99. The statement of the Principal was communicated

to all in black and white.

(Ch_oosé the correct meaning of the underlined phrase) |,
(A) speech (B) vain - (C) protest iy o (D) writing

Instructions for questions No. 100 to 102 ;-

Transform the sen'_te"nce_s into Indirect speech..

100, He said to me, ':‘M;iyl'you be happy.”
(A) He wish:ﬁd -1.1.1;:,15;1{ [ might be happy.
(B) He wished me that you might be happy.
(C) He said to metlzdtl might behappy .
(D) He siid 0 me hat [ may be happy.

RE-2021/.




=

Y

LS B

N

101.

102.

103.

104,

105.

108.

Rama said to me, “Are you Eoiné th '
: Cred» .
(A) Rama asked me whether | was g:-e' 2 ¥
s . in
(B) Rama asked me whether you wemn:;_t'herc.
] B0ing there:

" Were going there.
€T going there.
The teacher said to me, “You are'wroﬁg_ 3

(A) The teacher told me that you were I“—n.'dn
Ly WIong.

(B) The teacher told me that he was Wrong.

(C) The teacher told me that I was Wl‘ong .

(C) Rama said to me whether yo
(D) Rama said 1o me that you wy

(D) The teacher said to me that YOu were wrong.

sunrisesin______ east. -
(Fill in the blanks with appropriate Articles.)

(A) The, the + (B) The, an . (C) A, the

What is the feminine gender of ‘fox’ '?
(A) ewe (B) heifer (C) vixen

The room needs repairing.

(Change the voice of the sentencel) .

21

(b)'A, an.

(D) biticﬁ

]

(A) Repairing is needed for the room. (B) The room is being repai_red.'
(C) The room has been repaired. * (D) The room needs to be rep_aired.

Instructions for questions No. 106 to 110 :

Read the following passage and answer the questions given below.

Socrates, the great Greek philosopher, stayed in prison for thirty days before he
was finally executed. During this period of confinement, his friends andpupils
used to visit him regularly. They always found him in calm and cheerful mood.
He talked and taught his pupils as usual. He had no fear of death. One of his
pupils bribed the jailor to let Socrates escape from the prison. But, Socrates
wouldn’t. On the day of execution, his friends and pupils were in tears, but he
was seen calm and cheerful as before. The Greeks used to execute people by
making them drink a deadly poison called ‘hemlock’. To. every bpd_y‘_s uffé'l"
surprise, Socrates took the cup of hemlock and drank it like a glass of water. At
last, Socrates went calmly to death without weeping or complaining, -

What is the meaning of the underlined word in the passage ?

(A) excitement _ (B) imprisonment

{(C) depression. (D) unhappiness -

'CRE-EU: /B __ '
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107.

108.

109.

110.

111,

112,

113.

114.

115,

How did the friends ¢ and P“p'lq Of Socfm“ find him in the priébii :
(A) calm and cheerful & (B) worried and sorrowful

(C) dejected and unhappy (D) angry st agitated

How did Socrates behave with his f P“plls it
(A) did not talk and teach his pupils ™

(B) told his pupils to arrange for his ¢ escape
(C) did not behave well with his Pupxlq

(D) talked and taught his pupils as’ usm]

¢ prison ?

How did the Greeks execute people 2

(A) by beating (B) by beheading
(C) by making them drink hemlock (D) by han ging

How did Socrates face the death ?

(A) angrily protesting

(B) crying and shouting

(C) repenting and cursing

(D) calmly without weeping or cmﬁplaining

Instructions for questions No. 111 to 115 :

Fill in the blanks with appropriate and correctly spelt words.

i

Gandhiji’s death was an loss to the country.

(A) irepairable (B) irriparable (C) irreparable ('D) irrepairable

The patient is admitted in hospital for acute .
(A) diarrhoea (B) diarrhia (C) dyrthoea (D), diarhoea

The boy was punished for of similar mistakes.

(A) repeatation: (B) repitation (C) repetition (D) repitition

-Any or in the affidavit will attract penalty.

(A) omission, commission (B) omission, comission

(C) ommision, commision " (D) ommission, commission

The terrible news of Indira Gandhi’s _ spread like a flash of

lightening across the world.

(A) assasination  (B) ac‘.sassmatmn (C) asasination (D) asassination

CRE-2021/8 .




116.
e

118.

119.

120.

:-‘121'

22, .

123.

(D) Qe 6189 a6

- -1‘.2_‘.4‘.

(C) post-nuptial

: Instructions for questmns No. 115 tn li(i
F ill in the blanks with ¢
orrect form of
the verb-

A pair of sh_oe's _._____ lying i In the COme '
(A) were 5 :
| (B) is '. , & - (D) are

: . (C) am
It is you who cheated me "
(A) has B . el (C) s D) s .
Neither of the boys woﬁ a prl
: _— ze
A)h ' : '
Sixt |
- y years a long nme for a country to grow and prosper.
(A)are (B) were - (C) shall - (D)is
The crew _____ rescued from thé_sunken ship.
(A) is ~ (B) were ~ (C) am (D) was
PART -1V

ODIA : 20 Marks

Bedaiant 1 9@ QIeIa geete g6Q 20Q_aaq alal Ve AIe Q@8
a0 dQRIER eQYe” 6l 96R CuIaIagel AAGAIRE ARNQ A
Qg

QR 008 &7l YaiRle aae aiet ge gl 0.5 A6 snaN deoyel aaude |

cJian QaQ ~4a,

A9y ae §9Q 604 Q1ael Alal ALY, 019 raI@IER |8 IV ?
(B) post-natal

(A) post-mortem
(D) post-partem
Frade cad §ad 18 636089 9 Q62 ?

(A) Qa9 (B) 68154 (C) gRa

GaRE0 o QIHE e edIdie Qlet 26e |
(A) 20! CEICOERER qcq Q286A. 6AERERER TEQ QGQ aBiAl |

(B) A6RIG 6@]6’1‘16‘5‘! Qdml, NG glaidal eI |
(C) QQQIQ a(aly/y) 66 QIQIEH QR 919 990 @@ QQIQI‘G |
& Rim & I

(D) @leq

ge ged @@t : i
.wgalcmgs W (B qideel
(C) sdeR1 i B (D) Beel
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125. Q°QIQ1 €@ “Inhabitable’

Qad ey

(A) QAR ZeClon B

(B) A Q96Q 8Ql 669 S

(C) 6R6Q6R6R QIa 6alet @ 696069(;9 Q,g a@m |
(D) Q@a! caiey _

126. €Q- Q@QQ gel caleq Qi@ |

127, 69@ QIRD BaQia, QeIgeINee A 6de 1

(A)@fQ-aeq  (B) 994" P () e1ee-a109 (0)8187'2'95

(A) aARIege (B)@qieId . (C)aigheid (D) eaad 21Q

g. (128-132) A9Ade agseas 0@ aaa G |

2@ va gaela 2aAIeelg @18 @Ael daa, cace qeIIa aiglica 64 012
CRIRQIQAIT; 9ar AREY AQEHE ANIER 38R geIaq 2AAIAS! QGQIAR | §6a8 @R
U LadQ cAa AAIRela iR G691 @6 6ala @A SIRA | 604 a8l A 98
68 192l €eeR AgEY ARE Geca Q6T. QI - QIRY G €Q4a-6a4 AR A
0G0IA3 | Bacca Aidanie caiadel “@q aanIeel dald 9099 & q6q, G9Q
valq G6gea @@ vod fadea @dRe cRIeas ‘i RAAQAT @IQ” @ 49
fedae qald eIRcdn Yo Qbs AdMes: anla G6ad. VAIRUA QYR G qNaIm,
gasiie | VA dqa d8q ceaq 2o, 6 a'atq RS QQ 2anIeela amsl
0Aad | 21ag 90 ceclad. §¢ @AAHIQ 0 GBId UREAIAE FecEq QAR
age1a ag a1gq 89 gaee €Al R | artasca eedratial 268@ ERIQ AIQ
r.8 &ore 2ig @QRd | ad 2adInsl csg6a Y@ 69 QA QaR1G, | F6aEGE
alaeca ZaAIReIa el 26 Qe e atacad e AIF | 18 QeaIdeq
QIa0Q “98e Yo 6R6e UR1 ARRISF a6 AAAIR 624 I e QALK |
9010 @0 2qa. 986 €ad GeNIeR JUNIRAIAR. §IQ AR YOIA A 6Q9
QIT 1606 20 G9Id CRIAE FRGER QIS AIA 89 EAPA QREQICAER @ goae
cale 216, 9988 99 aerd | AR QQ8Ql 80 FOrdQ AR CAINE AIAER Q@8
QIoMa TR AIG oM §0rd | ANAaE 80 v YoIka aleci] dERINRRR Q6Q. Q9
Carlcn AN ERY €O CRIRE QARIEA ARG | CANIRE RITER AI91Q 28R AIQ
90,8 Gord T 008 | JAIQIA B TR (AR CRIGE. ARIHER ALR AAARNQ |
e a6 aeasa QaIael | 909e €8 QIAeQ Q0 QG’Q"%HIGP NG qmtc.gta'

- @I9E P‘}IQ 9 wel 6‘@16.1 aeley Y@ 1a1ateq 611@ QO 619!"6\ 6@19@ QIG‘HQ\Q o119
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Q.9 Ag caadql cace &9 80 qgp gg, Eﬂﬂ. g 89 Q@IQ O& | BaITea 6aaR

g6 6 Jeerada 2AAAR6IQ Q@Tﬂiamq @Qﬂ Ao 29AIA8I QEALR X o2
Qela1a8 | A 6R6Q 18 GQIRRe 9. g 01916 B 9 604 T adel
99Q aiders. 012 A4R AMOA MR Gigroiae! eadea 6009 YRl H1R0A
(28 )6RQTAICRER 910 T6aH Faig aquaialel V8 (90 %) GRAICA A
YRl QF | ¥AQ AAAIROIA SRR AIRIFE, gelcrae ¢ AR a1 AR I6edR
7] 80 QI0 QAAIIRE 6AIF AL 6 ARG gean YR G2 QITA 2HRIQ cladialg
cariee GA9 | 692 ARRIAE Foq o2 tgaica 61 6 Y1 AP 38390Y 6Aa @@
AER! GAITIN. COGR QAR RALTMIG 98 qiaQ BUR CAIR 962 1 49Q H]Q oad
Qe 6QAl. ¥R 2AAIRGIR gaIe 698 aday &4, FIRRI © geed @gea | YAIRE
ael @ aye ceadialg AnIge geka au aanIfela QQaIe 2WIQ AYQS 6Qal
JQI3R | 99 0ARI V° CEIGA el 6O casa &°ABA §aat AId cad UM A1
qItea GOR. CaRIEe GR Cod Doca G@eIq aRIGAN €04 CARIER QA
QaQld @delg dRlae @ofiel codicial | CARIER Q6QaER QAN cRI010I8
@QQIQI@ £d0I6Q FltH 4dld, QRIN E"G'E? g@%l@llm GPQQ@ | 629 CraREQ AM
08, BeiIQRca AN CaGRIGR URT GaAIGR AN §6edq 96 @8 @AM & SNIE
2106q @il Qaeiq Gcoaq CIG8T | 6100 CAAIRE caelq 98 6Q6d |

- 128, QIGYA QAAMIA &9 7
(A) Gide aRaqiAd atleq ag Adae
(B) @66 Q& Ree
(C) @c6 dde udaoa
(D) €146 RARQIAC ANIQ ERHS

129.; QIaea 6AIG 191K, ?JIQ;GI CR6e 61016 QARG grQ ?JI‘E]&IN ?

(A) 57% (B) 29.5% (©) 82% (D) 18%

‘30, QAHIS OGERAEA adal ceadiel 2971801 Geald RQ ARUER g@@ QaaIa8 ?

(A) @GR €Ga8 u@@m AR
& eoem Em @ a " ERIER
8 ;:]Q_ﬁ?l. 9@@ tacau ZIRIQER

(B) 387

(C) G468, 6od
(D) ¢ ';?’i;.; sem azqqéﬂa alun;u;a
.l‘ syl ..’-F.T'O. |
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131. 0g NG Qg1 SR ‘
(A) QaGQ ¥Rt ¢ goae e Qq@l Goaa 2100 99 §91°6 ERRGIR aaa@ | |

(B) 4@ @0 §6l°d NEIEAIFE 0|%1€Gl %m 89 QGI"'SI Q@ a8 |

(C) @&, (A) 6 (B) 09!
(D) 6266 & 0@ 64 |

132. QOO 694 CRINAIFE sqem Q8o ana 9

(A) BaleIQ 6 Q1ealel ~(B) 84, AQRI G geasl | 5
(C) @GRAINER S (D)uR G B o
“QAQIQe 90 g2 46K Y AaQ s@maa 198 qlqyca Qal @ &y ?

SASS;
B)ee & (O efQ (D)9608

(A) QR
2d Q@al. “d aigl cocd AIT” 1 V@ 9948 adq acas adsa adee /Q |

(A) 28 Q16! cacd I €QIR QAR 1  (B) ¢ Il cacdl Q1T calR 28 QR |
(©) 28 aigl cocsl T IR F @RA 1 (D) ed 9Qa  AIQ) €aes AR 1

134.

135. QA 9% &Ql QT QI8 |
(A) SRAd ZI6AARI AW QQlleA |
(B) €91 39Q 6algl €@ 2REEQ QIR msml

(C) 710 Gagial 6alq 6a QIFQ 9Gge 6Q6m |
(D) O AU F6A JAIQ AR |

136. 49 99 QadQ QI | . :
(A) @190, 89891 (B) daiq. dsag1  (C) Gele, G881 (D) S191Q. 840!

137. “7195@ €0R QN TGRS VIR 98 QU 17 YT AIR6R 6R60IT AGR ¢l AF ?

()2 (8) 3 @4, - ‘™1
138. 0@ Q@ Q@ AARAde QAINHQ gAY 216 9Q8 QAL
“QIGRR) ~==- - 10 Ol TRV AIQE" : |
(A) @190 a8l (B) 66119Q 666161 (C) Q@S (D) Q16 Qe
139, 09l AIOGR €19 1Y AIF " cRIqalena 2l @8l 7 ' ;
(A) 9saliel 6R9R &6Q 216a AIF (B) 2Q50IQ AGRIF 624!
(C) @t et 9B GRal (D) 260 QR QR 919 QRIG QY QIF
140, “23gRena" 49q el 08 ? ic ) | i
(A) 191 9160 08 9 AT : ®)aq a@qm aQ Q‘G m
(€) €Il qaa AREIRAICR g D)aIg A Q0 me
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"ART-V ,
CO [‘UTLR 40 Marks wase read the
n. !" ey 4 h‘ arries ONE mark. Pha:t) ,«n;)rrftff"
and answep HI-E part ¢ by selecting the most app _
answers out of the Mmultiple answepg 3,“0‘"""‘ cach as A, B, C & D.

There shall pe 8¥en below

/mumple
negative margj, r question for wrong
answers, 8 @ 95 mark per 4

Insrrucnons Each questic
instructions carefully

141, WAN stands for g

(A) Wide Areq Nem) wide Array Net
(C) Wirelesg Area Network ' (D) Wired Arca Network

142, Webpages are written using ; 41, i
(A) HTTP B)HTML () URL ()
143. Unsolicited e-mai] is called a oY S
(A) Backbane (B) Newsgroup  (C) Usenet (D) Sp
‘ documente ?
144. Which facility can you use in MS Word to merge and Pl‘lm muluple
(A) Mail Merge (B) Print Preview
(C) Print Merge (D) None of the above
145,

What programme is uscd in MS Word to check the spellmgs ?

(A) Spellcheck (B) Outlook Express
(C) Speller (D) None of above

146. In MS — Word every command is available in :

(A) Letter (B) Menu ~ (O) Software | (D) Primer
d.
147. Editing a document consists of readmg through the document you.ve create
:I;:)nDc]eting it . ' (B) Correcting any errors
(C) Saving it (D) Printing it

ord, you can use Word Art to :
e, l:?[iilct}; Text a (B) Fo;mz_n Text |
((;;) Save Text (D) Makc'COpies
- (C) Sav "

ds should be scleucd to prmt nm <,
‘ lhc followmg prml LOl'ﬂlll'll'l

149, Whuh among

: pages of document -

| : int All
A) Pa,_.,e Contml ' _ __(B)_-_P__ff%
! i : (D) Page Setup | SR
:'.ff-ﬁ*ff_--'m“ﬂ- G R P e s
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‘What is the default font in MS W"l‘d? e e i

150.
(A) Times New Roman : : (B Callbn(Body) {.
(©) Gothic Bold (D) Arial '
181, One cell format can be copicd to anolher cell by using : ' :
(A) F""““‘ Setting ~ (B) Format Checking :
(C) Format Painter - """ (D) Format Showing
152. In Excel, each sheet in a workbOQEi's _di'splayed as :
(A) Marker (B) Arrow - . (C) Tab (D) None of these
- 183, What do. you use to create a chart in Ex’;ﬁcl 2
(A) Chart Wizard ~(B) Data Wizard
'(C) Excel Wizard (D) Pie Wizard
154 Ina _sprcadshect, which button do you click to add up a series of numbers ?
(A) The Formula button . (B) The quick total button
(C) The total button (D) The AutoSum button
155. Which function is use to display the current date and time in a cell ? ,
(A) Now - (B) Day (C) Current (D) Today
156. Which function is used to join two cells in Excel ?
(A) Merge & Centre ~ (B) Wrap Text
(C) Align (D) Join Cells
157.  In Excel, Columns are labelled as ;
(A) Al, A2, A3.. (B) 1,2,3... (C) $AS1,$BS2.. (D)ABC...
188. How many sheets are there, by default, when we create a new Excel file ?
(A)2 (B) 3 (C) 4 (D) 1
189, __ displuys- each slide of the PPT as a thumbnail and is used to re-
arrange them. a0 -
(A) Slide Sorter (B) Slide Design  (C) Slide Display (D) Slide Show
180. Which shomut key 1s u%ed to exit from the shdcshow 8 S
(A) Shift (B) Alt (C) Esc ~ (D)Enter
gk fahleacbalt 3
181 Wmch file format can be addcd to a PowerPoint ehow ? L
| (A) Jne By v {C) gif (D) All of thc'%t:-
cm—: 202!113 L - | ; .
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162.  Which of the following ig “‘sflon it S L PTII 1
(A) Presentation View LOT Powcrp int wawpw | ey
(C) Shide View . E Ry guulin® oo N A
k (1)) glide ShO . el
163. In PowerPoint presentation : PR : e
(A) Movie clips can be inserteq b
(B) S ul “Ol Souml chips " 55
Sound clips can be inserted by ; not movic clip - :
(C) Both cannot be inserted mw cAps el
(D) Both can be inserted. 6 e R
0 : " AT S
164, The slide that is used to introduce ; a tomic and set the tone for the prcseqffxtio_r_l i
called the : ch_a WS
(A) Graph Side  (B) Bullet Stide () Tle Side (D) Table S
- 165. What is the default page setup orientation of slide in POWer Point ?
(A) Landscape “ (B) Portrait ‘
(C) Vertical (D) None of these &
166. Power Point Presentations are widely used as :
(A) Project Presentation by students (B) Communication of plarmmg
(C) Note Outline for teachers (D) All of these il

167. What is the best way to create another copy of a slide ?
(A) From Insert Menu choose Duplicate Slide '

(B) Redo everything on the new slide that you had done on the prevtous %hde

(C) Click the slide, Press Ctrl + A and paste in new slide. ..« i L
(D) None of these :
168. is pr.océsscd by the compniter into information; © RS R
(A) Numbers - (B) Data (C) Output (D) Procc‘s?znr
o)
169. Computer Virus is a: | Wr-k
(A) Séf'lwafﬁ (B) Bacteria (C) Freeware (D)Hur@Wgr_e |
170. What is B.ickup“-' . e eGAR L e
(A) Copy to save a data from original %uurcu 0 thm dulnmuon i
(B) AcCess data from tape | S
(C) Lonnectmn of one ‘network (o more. cnmpnmm 3 F Ve -.j._-.:l.-:;'-.‘;:'. SHY
ARy hiier an: c—:ld Lhtu from new data bR T gy
e G, SRS (i it Lo N
CRE- zaz;m e o Y A



171.

172.

173.

174.

178.

176.

y i 8

178.

179.

180.

; ; 3 0'- III_&,“,.?‘....II _--_
What is called the starting UP '-,‘-2??-?_3,tlng._system 2

(A) Formatting (B SR8 S - (C) Booting (D) Entening,

What is-the shortcut key for Refreshq
(A) F3 @) F5 " (C)F4 (D) F2
If the displayed system time and date i_S‘.wrong,- you can reset it using :
(B) Calender (C) Write (D) None of _thcsc'

(A) Write File

Windows displays various options to shutdown. Which is suitable at the end of |

day ?
(A) Sleep

(B) Hibernate . (C) Restart (D) Shut Down

The two kinds of main memory in a computer are :
(B) Soft Disk and Hard Disk

(A) Primary and Secondary |
(D) Direct and Sequential .

(C) Cache and Virtual
Which of these programis will you choose to write a letter to the head of an
institution ? :

(A) Word Processor
(C) Graphic Processor

(B) Spreadsheet
(D) Notepad

VIRUS stands for :
(A) Very Important Resource Under Siege

(B) Vital Information Resource Under System
(C) Virus Information Resource Under Siege
(D) Vital Information Resources Under Siege

What is the full form of e-mail ?

(A) Electromagnetic Mail (B) Eléctronic Mail

(C) Electric Mail : (D) None of these
Which platform can you use for online meeting ? i

(A ) Google Meet (B) Microsoft Teams
(C) Zoom | e (D) All of the above .

The crime of stealing a password is called - . |
(A) f_>'u.__rfmg\_ - (B) Browsing - (C) Sp()oﬁ'ng_' : '(_D) S_'pooling-
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